
Wellis 

Smart STEP



                                                                            

                                            To reduce the risk of drowning, falls, paralysis, electrocution, or other

                                     serious injury or death:

Use step properly.

Use for intended purpose only.

   No diving or jumping from steps - shallow water, risk of paralysis or death.

   ONE PERSON ON THE LADDER/STAIR AT A TIME.

   llluminate the steps when using the spa at night.

Weight limit - 300 lbs maximum. Exceeding maximum weight may cause the step to fail.

Secure the spa when not in use. - (for example, with a locked cover or secure gate) - refer to local codes.

Watch children at all times when they are in or around water to help prevent drowning.

BE SURE AND SAFE. - The manufacturer lS NOT responsible for improper assembly, installation and use.

！WARNING 

SAFE USE 



WE0135-1

1x

WE0135-14

2x

WE0135-15

11x

WE0135-17

1x

WE0135-18

8x

WE0135-16

2x

WE0135-5

1x

WE0135-6

1x

WE0135-2

1x

WE0135-13

2x

WE0135-7

1x

WE0135-10&11

1x



WE0135-22

2x

WE0135-20

2x

WE0135-24

2x

WE0135-23

2x

WE0135-21

2x

WE0135-19

5x

WE0135-25

6x

WE0135-26

8x

USB

1x

LED lights

Three paragraphs

1x

LED lights

Four paragraphs

1x

M3X14

4x

M4.2X14

16x

M3X10

16x



WE0135-1  X1

WE0135-2  X1

WE0135-5  X1

WE0135-6  X1

WE0135-7  X1

WE0135-13  X2

WE0135-14  X2

WE0135-15  X11

WE0135-16  X2

WE0135-17  X1



1

2

2

WE0135-15   X
5

W
E0135-14    X2

1

2

3

X2

WE0135-21

X
2

W
E

0
1
3
5
-2

0

1

Pay atte
ntio

n to
 th

is positio
n, 

the screw hole is
 upward

W
E0135-2

3

X1

In
sta

ll in
 th

e
 rig

h
t h

o
le

Insert i
n th

e second ro
w

 of h
oles on th

e in
side



3

4

WE0135-15   X4

W
E

0
1
3
5
-7

W
E

0
1
3
5
-6

WE0135-10&11

M3X14

        x4

M3X10
x4

Notice
that the notch is forward

Notice

The two parts can be interchanged,

When the installation environment is limited, 

switch them to different positions so that the 

small drawer WE0135-17 can be installed 

in another direction



5

6

WE0135-15   X2

WE0135-23

WE0135-13

x2

Stp.1&2

S
tp

.3
&

4

S
tp

.5

Noticethat the notch is forward



7

M
4.2

X14

16x



9 WE0135-22

2x

M
3X

10

X
8

8

1 2

W
E0135-1

8

8x

WE0135-19
5X



10

WE0135-24
X2

11



WE0135-5

M3X10
X4

12

WE0135-25
6x

WE0135-26
8x

1.In
se

rt 
th

e u
pper h

ole
 fi

rs
t

2.H
old th

e to
p,press down



LED lights

Three paragraphs

1x

LED lights

Four paragraphs

1x
13



14

15

USB

1x

WE0135-17
1x

WE0135-16

2x




